. ¥ 9§ ‘IRwr weg 1 wAITETe yow @
(a) HIAR (b) vl
(c) T (d) =y

2. Feafaled & & o weg i 9 § woimoweas
s 2, 78 7 2 oI~ ~yra-eft
(a) TG
(b) 5
(c) wiwg
(d) g

3. W‘Wﬂﬁwaﬁq_mﬂﬁm%?
(a) ¥ - T (b) 93 - yuf
(c) ¥ - <a. (d) o - Bq

4. Pfefea # Fr-a1 aof qreer @i 2
(a) = (b) ®
(c) & d =

5. Fatafaa ¥ aeaw oee @
(a) 7Y (b) ga
(c) w13 (d) ¥

6. 3EH A ‘Feit’ 1 wf-fa=oe &
(@) T + ™
(b) fbq + R
(c) fo 1 + 3R
(d) o + W

7. PrefaRed § 1g s &
(a) TTeggfoes
(b) Teugferes
(c) geugfaes

PCUX-2-2;

. e % & T g T
“ﬁ@‘lwaﬂrmﬁ‘,aﬁmm%
(b) F T frema arft i |
(c) W Tt 1 UTE g v 2 |
(d) % wrer e g 2 |

9. TR wregl # omefa frar 2
(a) Sfim
(b) fera
ORCSELI

(d) =

10. ¥ & QR U1 3a% 3 F gier Hifyw 7ar
wel faeey #1 w37 Hif |

e aref

%) BTt ST ) TE=dT ¥ B 7
UM |

@) Bl W HW Wiedl ) 9gd I g @
ST BT |

) BTt 3HT ¥) 39f ¥ Fror =t
B |

°) BT ST Q) e ™ HT |

T

%—a, g-g, T-3, 9-§
(b) -9, @-g, T-31, 4-4
(c) ®-31, @-¥, T-g, 9-§
(d) %-3, @-HA, 1-9, 9-9

11, ‘Rras Iw o @ved T mn & | 9 I
% foTe o weq B

(a) fagfa

(b) SegH

(c) IR

(d) wreugfead

(d) Sege



r .

W«e‘;@uﬁm%m:

et TEIE H S Q) Ol qu e de
12 16 % ST T TR % e R G

mﬁﬁq@mmw%aﬂtaﬁsﬁ%ﬁmmqﬁ
& 1 T e et g Foh e e
@@@@ﬁwﬁ#wmwmﬂm
%,ﬁW%ﬁWW%%mﬁmwmﬁ
HE T | B9 39 TR <l ST SR N @ ot
< R RIS SR T gt | T Tl o W
2 7 IR T T T8 W aree g T & e se
uﬁﬁwmw’@mmm"%%@mﬁ
7 T & | B R i 8 O & i
1 TS T R TR e T A I
m%[ﬁﬁ’ﬁﬁﬂ%ﬂﬁﬁﬁ@%éﬁﬁw
A o o 3 el S T R

1. s 1 el b T TR YRR ST R € 7
(2) FEEEAEER  (b) T e
(c) atEan | NCAS G

13. ‘@Eﬁmmﬁgﬁ’mmﬁﬁﬁﬁmw
ﬁqmaam%?
(a)wwmﬁwwmm%ﬁmﬁ

+d A T P SR T A
ﬁﬁ@aﬂmﬁ@aﬂx
(c)wﬁﬁmwgamwﬁﬂﬁ%

(d)gmsﬁmwmmw%aﬂtaﬂsaﬁi
1 78 @ W @

14, ¥ e e s Rl s o g 7
&Mﬁ@"saﬂtﬁ@ﬁﬁ
(b) forea1 7d Forama #
(c)mﬁ'ﬁ
(d) WTST I

(ﬁ)@ﬁﬁ%ﬂﬁﬁ@%
(o) e 7 e e R &
Waﬂxﬁ@mmﬁﬂﬂwmm

& T8
(d)zﬂﬁammznz%%

20, mw'w'mgﬁg@ww%

(a) <M
(¢c) =&

(b) usht
(d) s




71. What is appropriate meaning of the idiom

‘Do not always pick holes’ ? Find out the

correct answer from following options.
(a) Keep quiet
(b) Pick up a quarrel

(c) Dig holes

Micize

22. Which of the following is the meaning of the

idiom “salt of the earth’ ?
(a) auseless person
(b) a very good and honest person

(c) adry person

(d) aselfish person

23. Fillin the blanks with appropriate prepositions :

He is junior service.

\9/'}'6“’ in

(b) to, in

me

(c) to, by

(d) than, in

PCUX-2-

24, Someone “strange or unusual in an amusipg
way”, is known as
(a) Zany
(b) Zit
(¢) Zombie
(d) Zap

Instruction for the Question Nos. 25 to 29.

Read the following passage carefully and answer the

following questions that follow :

Since modern industrial society is highly organized,
if there is a strike in a vital industry, the whole
community suffers. I am not arguing that, the right to
strike should be abolished. I am only arguing that, if
itis to be preserved, it must be for reasons concerned
with this particular matter, and not an general grounds
of personal liberty. In a highly organized country there
are many activities which are important to everybody
and without which there would be widespread

hardship.

25. A strike is generally regarded as
(a) an act of indiscipline
Jb-)/a(gross violation of rules
(c) an undemocratic act

(d) an expression of individual freedom



2. According to the author which one of the
following best express the industrial society ?
(a) In an industrial society the individual
members is not important

(b) In an industrial society power is

concentrated in the hands of few

(c) Industrial society is blind to the needs of

its members

M an industrial society members are

dependent on each other

27. The author is of the opinion that
(a) all strikes are bad

Mkes méy be there in the interest of the
general good

(c) strikes should be suppressed by all

means

(d) strikes should always be encouraged

28. The phrase ‘this particular matter’ refers to

(@Y The suffering of the strikes
(b) the fact that industrial society is highly
organized
(c) the unity of strikers

(d) the interests of the factory owners

PCUX-2-22

29. Inthe light of the passage, if there is a strike in

a soap factory, it may be viewed as
(a) a serious matter
(b) a thing not likely to happen

(c) not a serious matter

Matter of deep concern

30. Point out the synonym of DILAPIDATED.
(a) ruined
(b) weak
(c) lowered down

(d) broken

31. Which of the following is wrongly spelt ?
(a) absces
(b) accelerate
(c) accessory

(d) accede

32. Fillin the blank in the following sentence with

appropriate conjunction :

She must weep, she will die.

(a) because
(b) or

(c) but

(d) and
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33. Choose the odd one from the given options. | 33. e e foreheat & & foraw gfyg | ‘
(@ GJ 17 (a) GI 17 '
(b) LP 28 | (b) LP 28
(c) AZ 27 (c) AZ27
(d) CE7 GAET
34. Find the missing letter from the following. 34, FefaRead § & g s 3 Hifr |
b e B|G|N
D J R D ]
¢ N ’ G N ?
% X (@) X
®) W M
() V )V
dU d U

35. Four pairs of numbers are given of which three | 35. H&HI3 & w1 I fou 1 § Rt o7 v @

[

are alike and one is different. Find the one 3R T ST § | AT 9 i Fd i |
which is different. @7 108

(a) 7,108 0. 943

(b) 9,243 L

(© 11,363 (c) 11,363

(@ 5,75 (d 5,75

36. Which approach of decision making involves | 36. o & & fra 3umm ¥ yriufes wreml =1 3w

solving a problem using traditional means ? Fh THET T §A T I & ?
(a) Quantitative approach : (a) AEATHS: YT

(b) Scientific approach (b) i IaTm

(c) Creative approach (c) T=ATTH® I |

(d) Routine approach (d) Tt Iarm
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37, P and Q are in the ratio 5 : 6 and difference of
their squares is 99. The value of P is

37, PR Q,5: 6% ru § ¥ ot 37 =
3 99 2, A1 P %1 U @

(@) 45 (a) 45
(b) 15 M
(© 22 (c) 22
(d) 18 (d) 18

38. The background signals, distortions and

38. TGN % AT geayqf wehat, el FT sampaan

distraction during communication are known as ! AT 1T B
(a) Feedback (b) Receiver (a) wfegfee (b) SreRal
(c) Loudness (d) Noise (c) e @ (d) R

39, Statement :

Some rats are cats.

Some cats are dogs.

No dog is cow.

Conclusion : 1. No cow is cat.
II. No dog is rat.

II. Some cats are rats.

Choose correct option :

(a) only II and III follow

(b) only III follows

(c) 1, I, III follow

(d) only I and II follow

39. WU : 5O gp fafeerdl € |
¥ fafeeat % € |
3 Fel T A R |

fiemd: L ﬁgmﬁv_cﬂqﬁgl

W firshea =1 gL :

(a) Fa U I o &
_(pyFaw M

© LI, Inwé &

(d) ¥aa [aan [ &&t §

40. Perimeter of a triangular field is 540 meter. The [ 40. T PrgemR @a =1 IRATT 540 Hiex § a9 396!

YIS BT AT 5 : 121 13 ] | 36 6 1 qad

ratio of its arms is 5 : 12 : 13. The area of this

field is T ?
(a) 9450 sq. meter (2) 9450 = W
(b) 9320 sq. meter (b) 9320 anf Hix
(¢) 9720 sq. meter (c) 9720 =t Hfiex
(d) 9560 sq. meter (d) 9560 = X
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4]1. Read the following statements and select the
correct answer.
Statement 1 : Communication is irreversible.
Statement 2 : Communication is constant.
(a) Only Statement 2 is true
(b) Both the statements 1 and 2 are true

(c) Neither of the statement is true

(d) Only Statement 1 is true

42. Which one of the following is NOT a skill of
interpersonal interaction ?

(a) Empathy

(b) Courtesy

(c) Administrative power
(d) Positive thinking

43. fI=18,M =26 and COME = 72, then value
of GO is

(a) 40
(b) 72
(c) 44
(d) 38

44. Identify the missing term from the following
options for the given serjes,

AND, COF, FPI, JQM,
(a) PRT
(b) ORR
(c) ORS
(d) QRS

.8.

PCUX.Q\
4L, ﬁqﬁﬁaamﬁﬂﬂ%uﬁmaw
Hifsre |
wor 1 : TR Ay

oA 2 G e g
(a) I B 2 HeT B
(b) Gt 6% 1 30 2 ey ¥
(c) QI & & I Hewr 7 2
(d) o HI 199 3

By

42. ﬁw%%aﬁ%aﬁq—m@ﬁﬁaﬁﬁw
foren 1 @ e i 2 o

(a) Tegvfa
(b) Rremr
(c) smafes wife
(d) TR Qg

43. AR I1=18, M=261d COME=72%, d G
& A

(a) 40
(b) 72

L4

(d) 38

4. Teu T Afgen & frg frffes freed 4 8 0
93 T TgEm A |

AND, COF, FPI, JQM,
(a) PRT

\(bY ORR

(c) ORS

(d) QRS



%Which of the following is NOT a barrier of

A. e L
4 ffe ctive communication ?

(b) Colour
(d) Noise

(s) Language
©) Culture

6 I «GOLD’ is expressed as ‘HOME’ in a code
word and ‘SONS’ is expressed as “TOOT’ in
a code word, then “CORD’ can be expressed

in code word as
(a) TOOS (b) TONT
(c) DOSE (d) TOPT

4. Which of the following is NOT characteristics
of problem situation ?

(a) Complexity of solution

(b) Organization of problem situation
(c) Similarity of the problem

(d) Size of the problem

48. Which of the following is NOT a widely
recognised and accepted style of interpersonal
communication ?

(a) Assertiveness
(b) Persuasion
(c) Manipulativeness

(d) Aggression

49. The L.CM. of —— y2, X’ — y3 and

X3

@) (x+Y) (x—y) (C+ Y +xY)
(b) (x+y) (x =y +y" +x9)
() x+y)(x- y)2 (x2 +y—XY)
@ x+y) (x-y)

- xzy - xy2 + y3 is

PCUX-2 - 22

45, frefaRaa § 4 SR vh TaE gER F 9

TR
(a) T Yok
(c) H&Ff (d) 9t

46. IR ‘GOLD’ M 7 w1 # ‘HOME’ & weffa
fopan < 8, @ ‘SONS’ %l e w1 4 “TOOT’
A wefifa fran sirar 2, A1 ‘CORD’ 1 %z 91 |
3} Pred weRfa fean s @ 2 7

(a) TOOS (b) TONT

_(syDOSE (d) TOPT

47 Prefufas § § -9 GEEn B 7@ FH A
fRma i g 7

() THE i ST
(b) s fRufa =1 we
(o) dren i FHEa

(d)mmm

48. Freffe § @ SH-d Tl GER H =TS
9 § FrIT-9Te 3R T A W2 ?
(a) T&
(b) AT
(c) Tg&d
(d) ATHHRA
49, xz—yz, x3—y33fR' x3—x2y—xy2+y3$1
AN A
@ x+y) x-y) &y +x)
\}b)/(;wy)(x—y)z(xzwzﬂy)
(c) (x+Yy) (x—-y)2 (X2+)'—W)
@ 4y’ x=-y)
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50.  Which option is/are to be followed ? 50. fopa forhea w1 argeor R wiran 8/ ¢
Statement : Money is a huge motivator, HUA YU UF TG TSI T B |

Conclusion : 1.. People get motivated only

frerd: 1. @naﬁﬁﬂaéﬁ%w%@ﬁﬁﬁa
money for doing or behaving alh & e AR % )%W
in a certain way. BT v °H i 3G e E

2. There are some factors

when they expect to get some

2. 9 % FemE At FB W F §
other than money which also

_ T Rl Sif T F
motivates people.
Codes : %e:
(a) Only 2 follows (a) heret 2 IFFERE gt
(b) Both 1 and 2 follow J,ba’ﬁ 19 2 Igafa g &
(c) Neither 1 nor 2 follows ; (c)Far 1782 FEia g 2
(d) Only 1 follows (d) a9 1 IgaRa grar 2

51. If13thAugust,2017isThursday,thenwhatday 51. 3fe 13 avme, 2017 ! JgEafam 8, dF 27 3w,

of the week would be 27 August, 2023 2 2023 ) g B FHA-T1 R B 2
(a) Friday (a) AR
(b) Saturday & B
(c) Sunday () TR
(d) Thursday @) g
52. In decision making quality of choices are | 52. fiiy R # frsvedt Y s wwilya B 2
influenced by
(a) Abstraction (@) Feggar R
(b) Intelligence (b) gfg @
(c) Perception (c) weugfierror @
(d) Mental set (d) wrifrer fa=mg @

B -10-



ﬁ The number of parallelograms in the adjoinin
: ﬁgure is i

JAVAVAN

(a) 14 (b) 15
() 16 (d) 13
s4. Inasecretcode message ‘HOTEL' is coded as
300. What will be the code for ‘HOSTEL’ ?
(a) 474 (b) 374
(c) 360 (d) 558
55. What is correct order of writing a press
release ?
1. What happened ?
2. Who did it ?
3. Headline
4. When did it happen ?
Using the code given below, choose the
correct alternative.
(a) 3412 (b) 2314
(c) 3142 (d) 1324
56. If under some rule 5341 is transformed to 4086’
and 4772 is transformed to 5265, then 7614 will
be transformed to
(a) 6174 (b) 7038
(c) 8645 (d) 4238

PCUX-2-22
53. T gl § TR g 6 e

JAVAVAN

(a) 14
(c) 16

(b) 15
(d) 13

54, ThHI HEH A ‘HOTEL’ % 300% %4 A Hifea
fopan e 2 | ‘HOSTEL’ ol IS 41 2°1 7

V@aﬁ (b) 374
() 360 (d) 558

55. Yo Rmfer o &1 ad FA F0E 7

1. T §AT ?

2. o8 fere T 2

3, §i¥h

4. qg HE BT ?

3 fo T Gt T ST B TG T
&1 =5 HINT |
3412

(c) 3142

(b) 2314
) 1324

56. afe Rt fram & aiwia 5341, 4086 ¥ wRafdd
o 4772, 5265 X wRafda e w8, TWI6L

qfafda g
(a) 6174 (b) 7038
(c) 8645 (d) 4238



57

58.

59.

Going 50 m to South of her house Radhika turns
left and goes to another 20 m, Then, turning to
the North, she goes 30 m and then start walkin g

to her house. In which direction is she walking
now ?

(a) North

(b) South-West
(c) East

(d) North-West

If the radius of a sphere is increased by
2 cm, its surface area js increased by 352 cm?.
What is the radius of the sphere ? [n = 27—2)
(@) 7cm A

(b) 8 cm

(¢) 4cm

(d) 6cm

You are a Police Officer, your duty is assigned
at the State fair. Which of the following
situation do you handle first ?

(2) A dumpster next to the main tent
pavallion is on fire

(b) The ferris wheel is stuck in midair with
people still on it

(c) A man obviously drunk has passed out
and lying by the ticket booth

(d) There is crowd forming around two
unarmed teenagers ongoing with arguments

PCUX-2 -,

57, u‘f@]ﬁmﬁﬂt@‘q’f\wﬁaﬁmﬁ-wa

58.

59.

e amd gt 20 3. =l B | I WG Iy
geeh 30 M. T & 3T T A I TR g
STt & | e aE R R A T W@ R 2

(a) I

(b) affmr-feem

(0%

(d) ITR-ufgem

afe forelt it A1 Frsem 2 aft 7 <t e 2, &
U TS F1 A% 352 A w7 W 2 | iy
CIREE e [TF%Z_]

(2) 73R

(b) 8=

(c) 4ot

(d) 6Tt

3 T g sftremrt §, 3o e A9 i

FReme & | ane Fieforfaa 3 @ v g aRiRm

I TR ?

(2) 5= T Faferet & ot b R B =
T 3T ot @

b) T s R AT W I wsw T
W T, T IR

(c) 9 ¥ e vy safa W 3R e
Ragft & e wer o

(d)aﬁ:wa%—ﬁﬁiﬁt%w*
HH-TTH ftg o &) R



PCUX-2 - 22

60. Individuals receiving the message ask

themselves the baSiC qllestion, 60 W W w a-lﬁ aﬁ‘r Fﬂi ﬁ IE"[ W @a % ]
I : Is the person giving the message trustworth L: o =i < w2 & v &, Foeartia 3
and sincere ? 4 SUFER 3 7
11 :.Does the source know anything about the 11 : =11 Biva forear & & & &3 ST 2 7
subject ? : .
Using the codes given below c} g . Hrigd W
elow choose the #ifia
alternative. pES - I
(a) Only II is relevant (a) et 11 STEifirh 2
(b) Both I and II are relevant W I 3t 11 sifiren &
(c) Neither I nor II is relevant (c) &l 1 3R T 11w 2
d) Only I is rel :
(d) y Lis relevant (d)ﬁﬁﬂlmﬁﬁ%
61. Decision making occurs as a recreation to 61. Tty o whpar & &9 § 8ar 2
(a) Mood (a) v
(b) Problem \ W $
(c) Communication (c) ESSoT hl
(d) Solution (d) THEH

12 12 15
62. Number of prime factors (l) 8% x (ETS is | 62. [%j x 8% x (%] ¥ I PHES P
6 4

(a) 36 \’(‘3346‘
(b) 37 (b) 37
(c) 52 (c) 52
(d) 33 (d) 33

63. ‘aimiT Favkr o 3 TR % SEER JHfRH SR

63. According to ‘rational decision making model’,

last step is @ e
(a) Selection of alternative : ) -
(b) Identification of alternative S -I l
(c) Evaluation of alternative (c) Terebea 1 T ATHA
(d) Selection of the best alternative (d) watw faehed T w=H
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64. Numbers of triangles in the following figure is | 64. fimfafaa snpfa & Pyl & we R

(a) 22 (b) 24
(c) 26 ) 18

(a) 22 (b) 24
(c) 26 (d) 18

65.  Find the missing number in the following series. | 65. F=fed s@en ¥ srufm de 7 i |

p A A I%I’l%l

@ 610
® ¥
© %,
@ 19/

66. The graphical techniques that can be used to
represent nominal data are

(a) bar chart and ogive

(b) histogram and bar chart
(¢) histogram and ogive
(d) bar chart and pie chart

67. In aletter series
a__bb_a___bbaacc,__a,
the missing letters in the proper order are

(a) bbaccbb
(b) ccaccbb
(c) bcabcbb
(d) cbaccbb

LA ) 1%1’1%1
o5
® ¥,

Je)/% 3
@ 10/

66. aﬁmmﬁmweﬁﬁm
& o s i 51 weht 2

(a) Tvs fo 3R dor
(b) ra fom 3kt eve fay
(c) mﬁaaﬂtaﬁm
(d) e foa 3tk wid fag

67. =vi gft 3
a__bb_ a__bbaacc _ a,
e A 8 g avf @
(a) bbaccbb
\_Cba/c‘caccbb
(c) bcabcbb
(d) cbaccbb



68. Wwhich statement is NOT correct ?

69.

70.

7L

(a) Every thombus is a parallelogram.
(b) Every square is a rhombus.
(c) Every thombus is a square.

(d) Every rectangle is a parallelogram.

What is the main characteristics of Delphi
Technique for group decision making ?

(a) Alternative communication
(b) Written communication
(¢) Verbal communication

(d) Face-to-Face communication

The sum of deviations of a set of observations
X (s Xgy woeer X measured from 50 is —10 and
the sum of deviations from 46 is 70, then the
number of observations is

(a) 20
(b) 30 g
(c) 40
(d) 10

A person buys 4 horses and 9 cows for T 13,400.
If he sells the horses at 10% profit and cows
at 20% profit, then he earns a total profit of
% 1,880, What is the cost of a cow ?

(a) ¥ 600
(b) T900
(c) T 400

(d) None of the above

PCUX-2-22

68. HN-T1 HH A TG R ?

69.

70.

(a) S WAFTHS T AR AT R |
(b)maﬁ@mﬂgﬁﬁlél

(c) S TEg S T & |
(@WWWWW%‘

qq@ﬁﬂhéﬁﬁ%?@aﬂ?ﬂiﬁzﬁg@lﬁm
e 7

(a) T TR

(b) feiflga €=I1

(c)‘m&ﬁw

(d) IFEA-FEA TR

Jg F TG X, Xy o Xy &1 50 ° T g
ﬁaaﬁm:hﬂ—m‘%aﬂt%ﬁﬁqwﬁaaﬁ

190 70 &, 79 Jaoit F T 2
(a) 20

(b) 30

(c) 40

(d) 10

71. U SHfFT 49 wE 9 TRl T 13,400 F TG

-15-

2 | 9 =g =gt A 10% W& TR H 20% A
T A=A ], @ Il Hor A9 T 1,8808 | T T
RNATTRTR ?

(a) Y600

(b) X900

(c) T 400

Wﬁ%ﬁa‘ﬁﬁ
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72. Find the missing number from the following
alternatives.
21 24 36
11 14 12
3 ? 4
77 112 108
(a) 4 (b) 6
© 3 (d) 2
73. If 131x + 217y = 827 and 217x + 131y =913,
then what are values of x and Y respectively ?
(@) 2and 5
(b) 5and 7
(¢) 3and 2
(d) None of the above
74. The fifth letter of the letter sequence
g A o T, is
(@ L (b) K
()] @I
75. A tendency to fixate on initial information is
called
(2) Anchoring bias
(b) Confirmation bias
(c) Availability bias
(d) Overconfidence bias
76. 8isrelated to 81 and 27 is related to 256 in the
same way as 64 related to
(a) 425 (b) 525
(c) 625 (d) 225

PCUX-2-2,

72. frefrian foeredt & e den T A |

21 24 36
11 14 12
3 ? 4
i 112 | 108
(a) 4 (b) 6
\(9/ (d 2

73. A 131x +217y = 827 wd 217x + 131y =913,
I x T y & AW oW w1 E 7

(@) 2w 5
(b) 5T 7
M@’rz

(d) 3w A ¥ B 7

74.

(a) L LK
(] d) I
75. SRR IR R R @Y A vghy s
() THIT qaing
(b) TR qaimg
(c) IS yatg
(d) sHfi-smenfevera ying
76.

8, 81 % 1 27, 256 & T v wafg & R
WhR 64 Teftg &

(a) 425 (b) 525
(655 (d) 225

)



77.

78.

79.

80.

81.

‘Do you like working ?” This question is an

(a) Close question
(b) Positive question
(c) Negative question

(d) Open question

The process of listening consists of

(a) 5 stages (b) 6 stages

(c) 7 stages (d) 4 stages

Find median for the following data :

Class
Interval

Frequency | 42 25 58 40

0-20 |20-30]30-40]40-50

(a) 36.6 (b) 32.67

(c) 34.56 (d) 38.5

If 12345671586 stands for TERMINATION,
which number does 671586 stand for ?

(a) RATION (b) NATION

(c) MOTION (d) NOTION

Which one of the following context refers to
the relationship between the sender and the

receiver 7

(a) Physical

(b) Social

(c) Cultural

(d) Chronological

71,

78.

79

80.

81.
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(d) gl I
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(a) 5= (b) 6=

(c) 7= (d) 4=

ﬁmﬁmm%mu@wwﬁﬁ%:
sttt | 0—20 | 20-30[30-40|40-50
_ it | 42 25 58 40
(a) 36.6 (b) 32.67

(c) 34.56 (d) 38.5

IR 12345671586 %1 3 TERMINATION 2,
| ST 671586 1 3 F1 B ?

(a) RATION A/as)/NATION

(c) MOTION (d) NOTION

Prerfied o ¥ B-T1 T Hey Ivh SR Nl
& o9 ey $ guiar @ ?

ORLGED

(b) amRih
(c) Wi
(d) FrTFHTR




82. Which of the following is NOT a stage of
creative process in decision making ?
(a) Preparation
(b) Hlumination

(c) Identification of proposition
(d) Verification

1
83. Ifx= , then value of 4x> - 2x% — 8x + 5 is
\/5 +1
(a) -1 b o
(©) 2 d) -2

84. The tendency to have more confidence in

Judgements and decisions than we should, is
called

(a) Over confidence (b) Self-confidence
(c¢) Confidence (d) None of these

85. If the compound interest on a sum for 2 years

at 12 %% per annum is X 340, then the simple

interest on the same sum at the same rate for
the same period of time is

(a) ¥ 320 (b) ¥ 330
(c) T335 (d) ¥ 310

86. Arrange the followiﬁg words
in meaningful logical order.

1. Never
2. Sometimes

3. Generally

4. Seldom
5. Always
(a) 5,3,4,2,1 (b) 5.2.4.3. 1
(c) 5,3,2:4,1 d) 5,2,1,3,4
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82. ﬁméﬂﬁﬁmﬁfﬁaﬁﬁﬁq—mm%
SIS T =0T A ] 7
(a) Tl
(b) F&rwA
OB SEEIR /T
(d) GeaT

1 P,
83, 4fe x= a4’ —2%° - 8x +5
V341’

I A B
(a) -1 (b) 0
NOZH (d) -2

84. SRR 1 e o Pt 35 9 s

e e B, weerar 2
(a) fefvam (b) HArcafevaT™
(c) Forwam (d) ¥ & =i§ 7

85. af ws hn v 2 98 12%%uﬁaﬁﬁa¢w

ThlG = T340 ], @ I R QA FE U W
It arafy 3 e grumer s = B 2

% 320 (b) % 330

(c) ¥ 335 (d) ¥ 310

86. frfeifan wedl =t arefqet anfes s & =R
hifer |

1. vt 7

2. sharfea

3. M=

4. Tit-weft
5. wdqr
(@) 5,3,4,2,1
() 5,3,2,4,1

(b) 5,2,4,3,1
d 5,2,1,3,4



@? what percentage of message is perceived
pon-verbally ?

@ 55%
(c) 40%

(b) 50%
(d) 30%

Wwhich of the following is an example of dress
code communication ?

(b) Written
(d) Spoken

88.

(a) Non-verbal
(c) Verbal

Rajan is brother of Sachin and Manak is father
of Rajan. Jagat is brother of Priya and Priya is
daughter of Sachin. Then who is the uncle of
Jagat ?

(a) Manak
(c) Sachin

89.

(b) Rajan
(d) None of these

What type of communication is a press
release ?
(a) Intrapersonal
(c) Interpersonal

90.

(b) Public
(d) None of these

Which of the following is NOT a feature of
group decision making ?
(a) Active interaction between group
members
(b) Consensus among all the members
() One head is better than two ‘
(d) Joint responsibility for the decision

91.

92. A circle touches all four sides of a quadrilateral
ABCthosesidesareAB=80m,CD=9cm
and BC =7 cm. The length of side AD (in cm) is

(a) 10

(c) 12

(b) 11

d) 8
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(a) 55%

(c) 40%

(b) 50%
(d) 30%

me%ﬁnm,mwﬁm
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90.

Aot § ¥ FH-91 TP g fol & @@
A i ® ?
(a)masm%mammm
(b)wﬁﬂaﬂﬁasaﬁamﬁ(ﬁﬂ)

(c) T ufersh & § TR 8

(d) Fofa ¥ fe s Rl

01.

@qa,agimABCDzﬁmﬂwgmﬁﬁ
vt e 2, frehl yord AB = 8 #4,

CD = 9 st 3 BC = 73t & | 51 AD !
wag (ft 7) '
(a) 10

(c) 12

92.

(b) 11
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93. Which communication has an emotional
appeal ?
(a) Interpersonal communication
(b) Group communication

(c) Intrapersonal communication
(d) Mass communication

94. Complete the sequence with the correct option
from the following alternatives.
HOTEL:12::FILM : ?

(a) 14 (b) 16
(c) 18 (d) 10

95. The median of the first 10 prime numbers is
(@ 12.0 T (b) 135
(c) 129 d 11.0

96. Which of the fdllowing is NOT related with
the characteristics of problem solver ?
(a) Set variables
(b) Past experience and practice
(c) Generality of solution steps
(d) Motivational factors

97. 25 letters of English alphabet are arranged

below : '

V C F U M
P O X S H
I Z A I E
B L D K Q
N W G T Y

If all the letters were to be arranged

alphabetically, which letter would NOT change
its position ?

(a) W
©Y

(b) X
(d U

B 1 =20-
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03. forg waw i w v A R 7
(a) FadafFas TR

04, Freferi et 3 @ Wl fiehed G0 e A

i i |
HOTEL:12::FILM:?
(a) 14 (b) 16
(c) 18 \/df 10

95. W 10 WY dEAHl HY AferH

}9/12'.0 (b) 13.5
() 12.9 (d) 11.0

96. Ti=feiflga ¥ @ F-ur TH THET GHEH FA
e I fadwansii @ et @ @ ¢
(a) fo=ma =t
(b) T g 3R I
(c) guTa™ % eI Y an=gar
(d) AR FRF

97. 3 FotTe % 25 W A xafem §

Vedngi R U M

P O X s H

I Z A 1 E

B L D K Q

NW G T y

0% woft il e % SrgER s fon
e, =t o ol A Ry T e ¢

(a) W (b) X

(c (d) U
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'08. Find the missing number.

(a) 19 L |
(b) 20
() 21
(d) 18

99. From the following equations X%+ y2 =41
and x* - y4 =369 the value of x and y will be

respectively
(a) 4,5
(b),£4,+3
() £3,+4 4 5
(d) £5,+4

PR i
100. Which one of the following valid conclusion

can be derived from the following premises ?

Premises : 1. All scientists are graduates. : |
2. No supervisors are graduates.

Conclusion :

(a) All graduates are scientists

(b) All superyisors are scientists

(c) No graduates are supervisors'
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(a) 19
(b) 20
(c) 21
d) 18

00, Priffan @il K2 +y =41 x* —y* =369
H x T y T AE HA: LRl
(a) £4,£5
(b) +4,%3
(c) £3,+4
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. SERETE ;1. it S Ee €
2. %hi§ YIS HaS T8l & |
e '
(a) ot Hraw S3T €
(b) Tt guRaTESR ATTE &
WWWHﬁﬁ

(d) No supervisors are scientists

(d) 1§ greargon dhe T E - °

B 21.




